g g g
*\%\Q /%%0 4 %&% \\\@Q /%76,% \\\@Q
A
k>
T OE fo
$=1/1000 ok et s
H R ERET &
B W A | BEKAKER
B OB R 4 | BIEESE CNEGEE - 1. SERHEHE)
B Rt E B | V-20kn/h (EESOBEREEL0, 0F-F20)|
E B | EiE (4. 00m) +E&JF (0. 50m x 2) = £1ig (5. 00m)
X = slz 4 R
m&/DBIERFE | R=15.0mLE
=/DHEER CL=40. OmLL L
HE i B B 1=9. 0% LLF
¥ W 4 B ZE [=1.5%(FANERDFE)
dh
FTELEE
X
= X Y e
NT-1 | 13901.777| -43440.576| Afpstse s
NT-2 | 13946.360| -43438.037| A#RE%E 5
NT-3 | 13925.698| -43412. 362| A#RE%E S
NT-4 | 13896.883| -43396.088| 4#kEL#
NT-5 | 13883.462| -43351.814| 4#RatiE s X
NT-6 | 13858.218| -43388.312| At s
NT-7 | 13867.968| -43418.332| Afatse s
NT-8 | 13965.995| -43448, 732| A%k
x “
RFZEHEXRE ZHE# L=108m )
ZEA] L=108m
&
x 45 01,001,010 09 1, 57k (10.4 HO. DL=0.5n
o N=1F
= @53 (D600) L=1. 6m 2 g5k it (WO. 5B0. 5 HO. 8)N=T=
f818L=9. 4m S—Q_L\
: = 2 7 % 0. 3532 &) A=9. 9m2
P=226.255 Jkit (W0. 8 BO.8 H1.5 o= kit W1, 0| BO. 8 H1.5) AH#EEIR ¢ ﬁ 2
NT = 9m —_—
= sk (BF300) L=36. 6m 153K (57 ) 27 \ mBAE+H=YXFHEISEZET
. —_— X
Iy s 0 2EE D 0. 15) AL ' of & HifEEE (#2720, 35582 0. 15) A-22Q mMAE+H=YXFHFEISEE T
e B (203682 0. A U A 20 (BC-800)L=60. 51\
JL ¥ R\ FEEEBC #— K L—JuL=60. 5m \
x Ak ) I \
= Al _ L:6 9m
AKX =1=0. 9m 7KEJ;]ED%§' N=1% TL10. 4m [ N\
X
/<©) ! HARSE
/// \/ Il
Il
of | e e \/ @;J(’ﬁ%;%
>>>>>> X
S il [— 1 h | g’é%ﬁ”ﬂi/]\m&ﬁ W=4.4m *\@(”
§ 2% S || ~ |L *
o\ 2% . == = — )
FHEEZEED OATH=ZYXFEHEOFINS N%? ;%:/\; —= -1 s L A
LEAEA W +H=Y RFHEOEID S wlos, % I Iy
%%
X -57.3
fB3% (3%8-300A) L=56.0m 1 S41:#% (3F8-300A) L=57.3m
124803 - =56.
32 5k (W0. 7 BO. 7 H1. H)N=1%
o2 asE (D600 EEE) L=5. 5m y
FHEFRKIEE W=9.1m
X
THEZ&x/MES
ZHEAIRAES W=6.1m
HRERE
PNO|  IP1R) IP.2(R)
IA | 53-37-28.6 | 17-11-15.2
R 15. 000 50. 000 o
N
T 7.581 7. 556
oL 14. 039 14. 999 «
sL . . =
1.807 0. 568 = M &
I E5EH
H 4 TEE @ R | 1/1000
B o8 2| BEASKER
IEE /| SHEmE+HZYX
% 5t 7E B
N &
FXEL BHRESLAEBR % =
3 A




